(x+5)(x-5)
(7x+6y)(7x—-6Y)

(10+x)(10-x)

3x+2)(3x-4)
(-2x+5)
(x-2)
(-
)

)
6x+5)
7X+2)

3x+8)(-x-2)

~_~ I~ ~ o~ o~

2x+11)(2x+9)

b)

d)

h)

)

b)
d)

f)
h)

)

b)

d)

h)

(4x+3)(4x-3)



12.

13.

14.

6Xx#2-2X-3

The first term (—4x?) is negative.

6X; (x+3)2

b)

b)
d)

f)

h)

b)

d)

h)

b)
d)

f)

)

The third term (-9) is negative.
15x #2-3x-5

12x; (2x-3)’
25x%; (5x+2)’

ox?; (3x—1)2



2)
-7)(x+
Ex5)(x42))
(3x—1)(x+

b)

(x=3)(x-7)

3)
c)
€)

16.

d)

4)
x—3)(x—
EZX +1)(x+3)

f)

-3)
(5x—2)(2x-3

h)

+2)
(2x-1)(3x+2

9)

5)
_3)()(_
Ex+7)(x+2)

b)

(x+3)(x+5)

a)
c)
e)

17.

d)

(x+7)(x-2)

(2x+3)(x-5)

f)

+5)
(2x+3)(3x+5

(5x—-2)(x-3)

h)

(3x—4)(x+1)

9)



